Test Booklet No. Test Booklet Code
HE/HALEB1/6/21

MEDIUM : HINDI + ENGLISH A

Fdwm

INSTRUCTIONS
1. 38 Y¥A-UF Yl § OR 9T § | 9“7 v § 50 Y99 7, 9 8 g & fow 3 o fwifa
2 | 9N @7 MR {H, 9 U 97T 3R AE “a” ue (3ferei|) | 25 yeA 7, oM ¥ us %
o 2 o7 fAulfa 8 | For e, I99-99 & Fat 300 371 o foIw, 125 999 & | @ft 9ol & W
e |
This Question Paper Booklet contains four Sections. Section “A” Mathematics contains
50 questions of 3 marks each. Section “B” General Knowledge, Section “C” Language and

Section “D” Intelligence contain 25 questions of 2 marks per question. In all, the paper consists
of 125 questions for a total of 300 marks. Answer all questions.

2. AT T’ faftree WIen g 3R 39 T gS W H B A A S e 9 7 | (IFiger 6 e
Frafafaa 13 wmwieti @ & foreft off v v B AT STTevE o1 « ST, Sed, TS, TS,
f&dt, *ag, AemTem, W, siifean, g, affd, a9 3 34 1)

Section “C” is language specific and is to be attempted in the chosen language only. (Candidates
were required to choose any of the following 13 languages : Assamese, Bengali, English,
Gujarati, Hindi, Kannada, Malayalam, Marathi, Odiya, Punjabi, Tamil, Telugu and Urdu.)

3. uder i 3mafy 2 8¢ R 30 fime (150 fime) i B |

The test is of 2 hours and 30 minutes (150 minutes) duration.

4. T @t 3 = =0 S 1 g 8, Ik fofu weA-uw gfeaent fofves (aeft fa=dt ot o7isht o)
gt |

The Question Paper Booklet for those who have opted for Hindi or English would be bilingual
(i.e. in Hindi and English).

5. TS @it 4 faf¥e wwstt § @, feel Wt T 1 I R, I T SR gfedehT, Sew 9 | I
g fAfde ot g+ &3 Wi iR 1Sl | weRRia i 718 Bnft | odien |, forel o < Srere/fwior |
fopeft off oregwar % UM W, 3k USH TEHLT (WTHT 9FT o YT ol BIgHL) i Afad g
@ |

The Question Paper Booklet for those who have opted for any of the specified languages would
be in the language opted and indicated on the Admit Card and in English. In case of any
ambiguity in translation/construction of a question in the exam, its English version (except for
the Language section questions) shall be treated as final.
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6.

10.

11.

12

-9 YRR 86 TR 1 @ | HUA F(=C 3R I8 Hieaa Hie foh Tea-09 giedert g 8 3R
zaH o 73 2 |
The Question Paper Booklet is of 36 pages. Please check and ensure that the Question Paper

Booklet is complete and contains all the pages.

Toft T3 o IR Shal 3N.TA.AR. I H & ¢ |

Answer all questions in the OMR Answer Sheet only.

HI.TH. AR, IT-Th, TA-9 JIETehT o IS &l & | S U] Te-95 JRedohl @i 1 fgw faan
ST 8, T8 37T, ITH-IHh eIl o 3T faawr &1 eamgeeh, shad Hia/we sid dise 91 9
W |

The OMR Answer Sheet is inside this Question Paper Booklet. When you are directed to open

the Question Paper Booklet, take out the OMR Answer Sheet and fill the particulars carefully
with blue/black ball point pen only.

T T o AT A9 I o &Y § shaol Ueh A bl &1 W (T80 H) | I 19 3+ 97 & oy
Teh T TSI A bl TEU hid &, dl 3ok SIS ohl TTad W1 ST |

Darken only one circle as your answer for each question. If you darken more than one circle for

the same question, your answer will be treated as wrong.

TTerd I % o Fmfea anfehn =& & |

There is no negative marking for a wrong answer.

3. TA. TR, ST-IAh W SHEIH M T SN A1 Bieg 7 H A1 39 fowfua (feher) o 1 5=
T L | ARG T UHT KA § AT 3Tk 3T.TH. TR, IT-T 1 JoITh el Rl ST |

Do not make unnecessary marks on the OMR Answer Sheet or fold or attempt to deface it. If you
do so, your OMR Answer Sheet will not be evaluated.

.39 T50 W Tqerr 3R 3w fo@d & fou shaa /e Sid qise U9 1 ST | U &

TEHTA T R |
Use Blue/Black Ball Point Pen only for writing particulars on this page and for writing answers.

Do not use pencil.
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13.

14.

15.

16.

17.

18.

T% Joh, ToA-F fEaehl o, fb 38 3w @ Iuctey U8 TS S W & feRnm S =nfge A fR
.. AR, ITLITH W |

Rough work is to be done on the space provided for this purpose in the Question Paper Booklet
only and not on the OMR Answer Sheet.

wlien @ 89 W, HE/EE Bied ¥ Ugd e (FAfAeet) # SN.UH. AR, IW-UEh °ig
3|

On completion of the test, hand over the OMR Answer Sheet to the Invigilator before leaving the
Room/Hall.

3TTYeh! $H -9 GIEdehl ol 394 |1 of I hl AN 2 |

You are allowed to take away this Question Paper Booklet with you.

39 gfeae & e foon mn we A R | ot giafead e R f o mH.eTR. SauEe W gfga
foram e Wi, 39 Y- gfeaet & & TEE B | foEld g W T gieaet 3T ST UH.eTR.
ITR-UAF GHT bl Fge o TTT A Sl Gt dehlat Flers (3afafoeret) =i ¢ |

The CODE for this Booklet is A. Make sure that the CODE printed on the OMR Answer Sheet is
the same as that on this Question Paper Booklet. In case of discrepancy, report the matter
immediately to the Invigilator for replacement of both the Question Paper Booklet and the OMR

Answer Sheet.

JTOHT ShTSR (T .) T9-93 YIErehl/aN. w31, IT-uaeh | fou mu fAfdse wom o1 sigat 8l o
& fore |

Do not write your Roll No. anywhere else except in the specified space in the Question Paper
Booklet/OMR Answer Sheet.

3T AR, IW-Th W forelt off a8 o Fur e & 7w gwhg ata 91 (white fluid) 3T 39T
& |

Do not use white fluid for carrying out any correction on the OMR Answer Sheet.
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HTT <h / SECTION A

TTfoTd / MATHEMATICS
1. Torg HfshaT o A UTieh H9d (I8) BId & ?
(1) HH (2) 9m
(3) T (4) = g |
Whole numbers are closed under which operation ?
(1) Subtraction (2) Division
(3) Multiplication (4) All of these
2. 1 faferm it srgadt (srrel) e &
(1) 2 faferm (2) 1000001 (3) 100001 (4) 10001
The successor of 1 million is
(1) 2 million (2) 1000001 (3) 100001 (4) 10001

3. T 0,U,S,V,R X W,T,P,Qdu Y H& W W &M gl W & | =13 OP g
frefug fim 3
U vV R

o S
1

w T Q Y
| | |
P 2

4 6
1 — 2 — 4 _
() 5 () (3) 5 () 5

The points O, U, S, V, R, X, W, T, P, Q and Y on the number line are equidistant. The
fraction represented by length OP is

U vV R w T Q Y
| | | | |
2

SRS

P

o
[0)]
SRS

1 4
1 = 2 - 4
(D 5 (2) (3) = 4)

oo

4. awm,ﬁqﬁnwﬁﬁagﬁ%i%
(1) 031 (2) 537 (3) 536 (4) 637

The two consecutive integers, between which the fraction g lies, are

(1) Oand1 (2) 5and?7 (3) 5and6 (4) 6and?7
5. fyafafed @ @ $i9-a1 g as@ s 8 2
4 5 5 5
1 = 2) = — 4) =
(1) s (2) 3 (3) 5 (4) 2
Which of the following is the smallest fraction ?
4 5 5 5
) = 2) 2 2 4 2
(D 5 (2) 3 (3) 5 (4) 2
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10.

31§13l 1 HCF a1 LCM AT 6 3R 864 3 | AfG Teh HE&AT 96 7, I o W& H1d
hINTT |

(1) 84 (2) 45 (3) 54 (4) 24

The HCF and LCM of two numbers are 6 and 864 respectively. If one number is 96,

find the other number.

(1) 84 (2) 45 (3) 54 4) 24

1 TET3Tl H1 HOF 12 8 T 39! 3 12 & | I8 T HefaRad § 8§ -1 81 Hepdl
g7

(1) 84,96 (2) 66,78 (3) 70,82 (4) 62,78

The HCF of two numbers is 12 and their difference is 12. Which of the following can

be the numbers ?

(1) 84,96 (2) 66,78 (3) 170, 82 (4) 62,78
o go8 B T F1d HIFT S 9, 12T 15 TR T WST 3 |
(1) 60 (2) 90 (3) 120 (4) 180

Find the smallest number that is divisible by each one of 9, 12 and 15.

(1) 60 (2) 90 (3) 120 (4) 180
TTA-IIIST 1 T fafsrse g T 15 i Yehe | o= ST 8 | 3! N T 144 Ifd goiA
2 1 8 Tl Uehel W ufaera § e fera g 2

(1) 20 (2 25 3) 24 4) 36
A certain brand of soap-powder is sold at ¥ 15 per packet. It costs ¥ 144 a dozen.
What is the profit in percent on 8 dozen packets ?

(1) 20 (2) 25 (3) 24 (4) 36

I8 FEI-9-99 &A1 1 hifoe fSEE 37, 56, 93 I YT e W AYHA HA: 1, 2 3 3
@ |

1 9 (2) 18 3) 15 4) 12

Find the greatest number that will divide 37, 56, 93 leaving remainder 1, 2 and 3
respectively.

1 9 (2) 18 3) 15 (4) 12
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11. 3 10 MeH forelt Rl 1 4 T § & Fehd @, 1 3T & Bl 5 7 § QU & & T
fopa aTefin <t STraverhdr gRft ?
(1) 10 2 8 (3) 40 4) 12

If 10 men can do a piece of work in 4 days, how many men will be required to get the

same work done in 5 days ?

(1) 10 (2) 8 (3) 40 4) 12

12. 21 ST 15 TR o S I =Xt & | fohd SpiEt 35 TR ok SO& IR <R/ ?

(1) 38 (2) 49 (3) 37 (4) 41

21 goats eat as much as 15 cows. How many goats eat as much as 35 cows ?

(1) 38 (2) 49 3) 37 (4) 41

13. T Hhfeh 9 R & T 36,000 AT 2 | A 1 &7 & 37 27 ®1 ww 2t 7, @ 98
1 feq ¥ foram svmTm 2

(1) ¥ 1,08,000 (2) ¥ 1,80,000
(3) ¥ 1,00,800 (4) ¥ 1,00,080

A mechanic earns ¥ 36,000 on 9 cars. How much will he earn in 1 day, if in a day he

receives 27 cars ?
(1) ¥ 1,08,000 (2) ¥ 1,80,000
(3) ¥ 1,00,800 (4) < 1,00,080

14. Afe x:y=3:5,?ﬁ3x+4y:8x+5y7=|'7[33|§qm3ﬂﬂ$ 3T |
(1) 39:49 (2) 29:50
(3) 29:49 (4) 39:50

If x:y=3:5, find the ratio 3x + 4y : 8x + 5y.
(1) 39:49 (2) 29:50
3) 29:49 (4) 39:50
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15. 3fE 3,18, m, 42 TAHYT § &, @ m 1 I F1d I |
(1) 6 (2) 54
3) 7 (4) 252
Find the value of m, if 3, 18, m, 42 are in proportion.
1) 6 (2) 54
@) 7 (4) 252

16. TH NCC & § 1200 gfreqeff o & @ & {98 & 900 =t 7ordx feaw g & foqw g
T2 | 97 §C TE 81 94 §U hei hl HEAT o S ST fehal BT 2
(1) 300 :120 (2 4:1 3) 3:1 (4) 120:130

In an NCC Camp, 1200 trainees are participating out of which 900 are selected for
Republic Day Camp. What is the ratio between the number of selected and
non-selected cadets ?

(1) 300:120 (2 4:1 3) 3:1 (4) 120:130

17. afe U oo el g&aeh sl T 450 § S=cn B, A1 S8 10% i g B B | 10% o
ITH o o foe foshat gt foram 8T =mfe 2

(1) ¥ 500 (2) T 600 (3) T 550 (4) T 525

If a boy sells a book for ¥ 450, he makes a loss of 10%. To gain 10%, what should be
the selling price ?

(1) < 500 (2) ¥ 600 (3) ¥ 550 (4) T 525

18. U HGH! Th TRt 1 20% o W W T 7,500 H S=d1 & 3T gal T &l 10%
B W T 8,100 T S=aT B | ST Hed FIH S7eral o1 [ HIFTC |

(1) M=% 300 (2) B =% 350
(3) WY =% 300 (4) ¥ =7 350

A man sells one speaker for ¥ 7,500 at a profit of 20% and another speaker for
T 8,100 at a loss of 10%. Find his total loss or profit.

(1) Loss=7% 300 (2) Loss =% 350
(8) Profit=7 300 (4) Profit =< 350
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19.

20.

21.

22,

23.

A I (8 + 4 —2) x (17— 12) x 10 — 89 =

(1) 3950 (2) 411 (3) 412 (4) 3949
Simplify (8 + 4 —2) x (17— 12) x 10 — 89 =

(1) 3950 (2) 411 (3) 412 (4) 3949

A HINTT 005 + 15 x5 + 10 X 05 =

(1) 425 (2) 425 (3) 0425 (4) 042
Simplify 0-05 + 15 x 5 + 10 x 0-5 =

(1) 425 (2) 425 (3) 0425 4) 042

TA BT 7 +5-2x(7T+89)-94+2+(33+3+9x2-7)+11=
(1) 254 (2) —225 (3) —235 (4) 245
Simplify 7+5-2x(7+89)—-94+2+(33+3+9x2-7)+11=
(1) 254 (2) —225 (3) —235 (4) 245

Teh el H 20 TSehi T 3NEA WK 160 kg 2 qAT AT 5 AASHhI 1 50 kg & | HalT o Gt
Al 1 3 HR [T i |

(1) 138kg (2) 183 kg (3) 140 kg (4) 150 kg

The average weight of 20 boys in a class is 160 kg and that of the remaining 5 boys is
50 kg. Find the average weight of all the boys in the class.

(1) 138kg (2) 183 kg (3) 140 kg (4) 150 kg

wsh wgg 4 7 faenfd g e oftwd o 226 7 | Afe 3 ¥ B® gR wg fohw MU st
SHA: 340, 180, 260, 56, 275 AAT 307 &, a dad foeneff g ww fpu Tu 31 3@
HINT |

(1) 160 (2) 162 (3) 163 (4) 164

The average marks obtained by 7 students in a group is 226. If the marks obtained by
six of them are 340, 180, 260, 56, 275 and 307 respectively, find the marks obtained
by the seventh student.

(1) 160 (2) 162 (3) 163 (4) 164
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24.

25.

26.

27.

28.

Teh oATEsHl # 3fiTe 510 Tigsh Perar i 3R 240 3= o7 amd & | doam & 7w B g
30 fo7 & wd § smigent i 3fted T fera Bt 2

(1) 280 (2) 285 3) 290 (4) 295

A library has an average of 510 visitors on Sundays and 240 on other days. The

average number of visitors in a month of 30 days starting with Sunday is

(1) 280 (2) 285 3) 290 (4) 295

T S 179 B H 87 T 1 TR A1 g 3N 30 THR 91 37Ed 3 € §¢ el
21 17d B9 & 91 3R 3Hd [ hifST |

(1) 36 (2) 37 3) 38 4) 39

A batsman makes a score of 87 runs in the 17th match and thus increases his average
by 3. Find his average after the 17th match.

(1) 36 (2) 37 (3) 38 (4) 39

1,8,5,7,9,11,13 % 309d 8
1 7 2) 8 3) 75 4) 85

Averageof 1, 3,5,7,9,11, 13 is
1 7 (2 8 3 75 4) 85

Ife v HTx% 100 B TAT 2T y% 200 B, a1 x 37 2z o = GoY 1 HIT |
1) z=x (2) 2z=x
(3) z=2x (4) z=3x
If x% of y is 100 and y% of z is 200, then find the relation between x and z.
(1) z=x (2) 2z=x
(3) z=2x (4) z=3x

Tort) T = 2/59 & Th-{a@Ts 1 Th-T19Ts 15 & | 39 H&AT Al 40% fohdaT BT 2
(1) 140 (2) 150 (3) 180 (4) 200
One-fourth of one-third of two-fifth of a number is 15. What will be 40% of that

number ?

(1) 140 (2) 150 (3) 180 (4) 200
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29.

30.

31.

32.

Ife 40 &1 15% Torell & & 25% | 2 A BT &, o 98 AT Bl
1) 14 (2) 16 (3) 18 4) 20

If 15% of 40 is greater than 25% of a number by 2, then the number is
(1) 14 (2) 16 3) 18 4) 20

T STRATHR WA & HeM 6l awars Jufl § F1a HiE et &oha 700 31 . Jo =i
2511, 7 |

(1) 28 (2) 280
(3) 2800 (4) 2500

Find the length of a rectangular playground in cm whose area is 700 sq.m and
breadth is 25 m.

(1) 28 (2) 280
(3) 2800 (4) 2500

1 3 T 1,200 T 0T FIYURI TS RV 3q4 & 991 o fore foran fSaft =t @ 2 | afe 3o
T 432 1 SIS FOT AGY o 37d § T, df saret o fona oft 2

(1) 36 (2) 6
3) 18 4) 10

Reena took a loan of ¥ 1,200 with simple interest for as many years as the rate of

interest. If she paid I 432 as interest at the end of the loan period, what was the rate

of interest ?
(1) 36 (2 6
(3) 18 4) 10

e =El H 7:15 pm oS R® &, A 390 &4 0 1 4 fafgu |
(1) = B (2) TR
(3) Afreh o (4) @er o

Write the name of the angle formed when the clock time is 7:15 pm.
(1) Acute angle (2) Right angle
(3) Obtuse angle (4) Straight angle
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33.

34.

35.

= arfert # =Eis I & fUse 9f & sifekan aEE gwie e E | 3| Ao B
SITeRRT 3T JART SIS 3R FfAfiad % 3T ST

i wR A o af & 5 wde 13, Jors o faaren %1 ofudd stftreman argme
(2 TomeTd T qeh) feRaHT ot 2

EEE el | e T3 Jors | foamr | TEmR
tfeeham a9EM, °CH | 3 9 21 29 24 11
(1) 21-65°C (2) 24-66°C (3) 25-52°C (4) 26-23°C

The table below shows the maximum temperatures in New York City last year. Use
the information in this table and answer the following :

What was the average maximum temperature (upto 2 decimal places) of three months
May, July and September last year in New York City ?

Month Jan. Mar. May Jul. Sept. Nov.
Maximum 3 9 21 29 24 11
temperature, in °C

(1) 21-65°C (2) 24-66°C (3) 2552°C (4) 26-23°C

YTd:shTcl k1 dT9H — 10°C AT 3R Ikl dek I 3 Teifl e T o | 9kl | d9HH
ToraHT o 2

(1) -7°C (2) -23°C 3) -13°C 4) -12°C

In the morning, the temperature was — 10°C and it decreased 3 degrees by the
evening. What was the temperature in the evening ?
(1) —-17°C (2) -23°C (3) -13°C 4) -12°C

Teh ITIATRR sEf=T 185 WY, e 3T 220 Hi. =ieT B | 39 o= | 4 M. & Thame DS
% 3 TSh o, Th SEHI TS o FHIL 3T GE SR =A1ST8 o TR | T 1-25 Ui &
M. ¥ Tghi I A (THAA) U <l AN 31d I |

(1) ¥ 3,900 (2) ¥ 3,010 (3) ¥ 4,010 (4) T 2,005

A rectangular garden is 185 m long and 220 m wide. It has two roads in its centre of
uniform width of 4 m, one parallel to its length and the other parallel to its breadth.
Find the cost of levelling the roads at ¥ 1:25 per sq.m.

(1) < 3,900 (2) ¥ 3,010 (3) T 4,010 (4) < 2,005
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36.

37.

38.

39.

Teh ST S« BidT @
(1) 1x10-1+t. (2) 1x10-2H.
(8) 1x102H. (4) 1x103H.

One decimeter is equal to
(1) 1x101m (2) 1x102m
(3) 1x102m (4) 1x103m

U T Ughd H, A IS Tohdrel RGN AT ], A1 39T T a1 IR AT T8l fopan
Sran o s 98 3Tan B |

(1) 94 (2) IEX
(3) T T8 S Tkl (4) < gAH 8

In Roman numeration, if a symbol is repeated, its value is not multiplied as many
times as it occurs.

(1) True (2) False

(3) Cannot say (4) Both are equal
e o TopHT forg T 3Teied o =A™ g AN hiv B

(1) 45° (2) 180°

(3) 90° (4) 60°

The angle subtended by the diameter of a semicircle on any point on the circle is

(1) 45° (2) 180°

(3) 90° (4) 60°

T S T P TS AT 44 TH 7 | 3T TS 4 T 9T % BB T HR AW 7 |
H-8-H Tk 99 g TR T foha B =9 &1 2

(1) 888 (2) 729

(3) 164 4) 33

A big cube has each portion of 44 cm. Tiny cubes of 4 cm portion each are cut from
that. Then how many tiny cubes will be formed that are surrounded by at least one

cube ?
(1) 888 (2) 729
(3) 164 4) 33
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40. UH ITHAHR 3 15 GHY owam, 12 §Hf =gl 31K 8 §Ht a1 g, 3R I § QU W g3
3 | 3% § W gY U 1 TR A1 HINT |

(1) 180 9= g (2) 1200 =9 9t
(3) 44097 g (4) 1440 =9 9

A rectangular tank 15 cm long, 12 cm wide and 8 cm high was completely filled with

water. Find the volume of water in the tank.
(1) 180 c¢m3 (2) 1200 cm3
(3) 440 cm3 (4) 1440 cm3

41. HA-1 fahed Sed gU A § sHafead fadi i guiian 8 ?

(1) é < l < § < E (2) é < l < E < §
8 12 4 16 8 12 16 4
(3) §<§<E<l (4) l<§<§<§
8 4 16 1 1 8 4 16
Which option shows fractions arranged in ascending order ?
8 12 4 16 8 12 16 4
(3) é < § < E < l (4) l < é < § < E
8 4 16 1 12 8 4 16

42. 945-341 — 1042-792 + 875435 + 31-025 &1 HH T § ?

(1) 908:004 (2) 810-008
(3) 795-659 (4) 809-009

What is the value of 945-341 — 1042-792 + 875:435 + 31:025 ?
(1) 908:004 (2) 810-:008
(3) 795:659 (4) 809-:009
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43. T 3TeH I6M o 98t 160 T, 64 feorfi/ee W otar & aem o7t 160 formt, 80 femtfi/eae

44.

45.

46.

T HAT 2 | I 6 99H 320 fort Y 3faa I @
(1) 35-55 feefi/erer 2) 36 ferdi/aer
(3) 71-11 fersi/aren (4) 71 forHi/eren

A man on tour travels first 160 km at 64 km/hr and the next 160 km at 80 km/hr. The
average speed for the first 320 km of the tour is

(1) 3555 km/hr (2) 36 km/hr

(3) 71-11 km/hr (4) 71 km/hr

3-3Teh! shl AT N g0 2272 99T 875 ohl fIWITd o T gH Th & A% ITH BT & |
N @ 3Tehl 1 INTHA &

(1) 10 (2 11 3 12 4 13

On dividing 2272 as well as 875 by a 3-digit number N, we get the same remainder.
The sum of the digits of N is
(1) 10 (2 11 3) 12 (4) 13

S B L ver w1, oy wrelt # et HY of ST HUR e % R o 3
2

HQJT%EI'UZTHIQCII H H A g | T Sl TR AW b [T @R BH H§ foha ww

AT R ?

1) %w 2) 199 3) %wa @) %aﬂa

It takes Julia % hour to wash, comb her hair and put on her clothes and 1 hour to

have her breakfast. How much time does it take Julia to be ready for school ?

1) %hour (2) 1hour (3) %hour (4) %hour

TF g&aTehl § efdfied § 8 SH-5 9@ 777d 3 2
(1) LXII (2) XCI 3) LC (4) XLIV
Which of the following numbers in Roman Numerals is incorrect ?

(1) LXII (2) XCI 3) LC (4) XLIV
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47. Th g9 H fohdd weAsh 30 8 ?
1 6 (2) 12 (3) 8 4) 4

How many faces are there in a cuboid ?

(1 6 (2) 12 3 8 4) 4

48. T GUTC Tag 5 gt fesmedt # 1fafvea w9 @ vedt B, 98 Faad &

(1) H9aA (2) @

(3) WETE 4) fog

A flat surface which extends indefinitely in all directions is called a
(1) Plane (2) Line

(3) Line segment (4) Point

49. T I HIVI o ST IR 10° 8 | G iU o AT el TUMET HIT |
(1) 55°, 45° (2) 40°,50°
(3) 50°, 60° (4) 100°, 90°

The difference between two complementary angles is 10°. Calculate the values of both

the angles.
(1) 55°,45° (2) 40°, 50°
(3) 50°,60° (4) 100°, 90°

50. ST, Tt 3w 1 A WR 48-057 o 7 | AR S TR 95t w1 W shwst: 5-35 Tomam
3R 24-52 fopuT B, 1 ™I &1 YR F1A HINT |

(1) 17-187 ferum (2) 18-187 ferum
(3) 17-180 ferum (4) 18-180 ferum

The total weight of brinjal, lady-finger and onion is 48057 kg. If brinjal and
lady-finger weigh 5-35 kg and 24-52 kg respectively, find the weight of onion.

(1) 17-187 kg (2) 18187 kg

(3) 17-180 kg (4) 18180 kg

HE/HALEBI/6/21 1I5-A



HWT @/ SECTION B
AT A1 / GENERAL KNOWLEDGE

51. TorT I3 o1 T aTEAT <A1 =T A9 o forg feRam St B 2

(1) TR (2) wfiEnfie

(3) TTSIEhHIY (4) Terarfier
Which device is used to measure the speed of vehicles ?

(1) Gravometer (2) Speedometer
(3) Gyroscope (4) Kilometer

52. 9NA 4 Tohe T & 79T TSI Tefleh AT 2

(1) hivctaeg (2) TG
(3) HRAY (4) 9T
From which monument did India adopt its National Emblem ?
(1) Kapilavastu (2) Hastinapur
(3) Sarnath (4) Panipat
53. Tifcfaa # & forg T St | Ha/IET S IR 7R THRE0 & ff STt 2 2
(1) wrfeteren (2) e
(3) Ra-TEH 4) FHEL

In which of the following styles of dance is the story/theme always taken from
Mahabharata and Ramayana ?

(1) Mohiniattam (2) Odissi
(3) Bharatanatyam (4) Kuchipudi

54. TIR TSI HolUsl (I Haq) o MR W HEHT I T& 0 H Fafed e —
a3 b-A3ME ¢T3 d-3TE :
(1) abed (2) beda (3) dacb (4) cdab

Arrange the months based on our National Calendar (Saka Era) in correct serial
order — a-Chaitra b-Vaishakha c-Jyaishtha d-Aashada :

(1) abced (2) bcda (3) dacb (4) cdab
55. THfRad § & HH-A1 AS% agaH § ?

1) v 2 g

(3) WIS C-17 TAEHIEX (4) =dh

Which one of the following is a combat aircraft ?

(1) Tejas (2) Dhruv

(3) Boeing C-17 Globemaster (4) Chetak

HE/HALEBI/6/21 16 -A



56. T=faiRad # & wH-a/E Hu/2h Heard & Fafad g ?

(1) zfam (2) <ftreg g
(3) Taw gH (4) oFER gihl
Which of the following cups/trophies is associated with football ?
(1) Davis Cup (2) Champions Trophy
(3) Santosh Trophy (4) Deodhar Trophy
57. <Al 3a THg hl AT Bl HH T & ?
(1) TIgm@ (2) =R gy
(3) T g (4) FuE T
How do ants recognize ants from their group ?
(1) By colour (2) By face
(3) By smell (4) By height
58. Tr=fcifgd & & -1 died! Ml H 9Telq 8 ?
(1) =l 2) WS (3) it (4) g
Which of the following is domesticated in poultry farms ?
(1) Goat (2) Sheep (3) Hen (4) Horses
59. S X eft g2 Bt 8 3R Wiee § wEeE | srfufsher s # |
(1) g Hferhrd 2) srEtfufEt (wefnEt)
(3) g (4) T
The cover the tongue and react to chemicals in food.
(1) Taste Buds (2) Sphincters
(3) Teeth (4) Skin

60. QeI ufaE Hd g ferfientor o et B 2
(1) T 3G i FHIK Tl 2
(2) W g 1 qrel W@l 3
(3) Hewsal ht Ihg I Ueha 2
(4) 3TE H A IS TE

What does freezing do when preserving foods ?
(1) Keeps the food product hard
(2) Keeps the flavours of the food fresh

(3) Stops growth of micro-organisms
(4) None of the above
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61. 7, =9 (Gueeeh) IR fgwar (WUQT) o il ol vl g % o STt @ iteh s
(1) T9& i Bd & |
(2) o 3N I1A I i & 7 |
(3) o 3TN s It B 8 7 |
(4) el S B 2 |

Seeds of drumstick and maple are carried over long distances by wind because they
possess

(1) winged seeds.

(2) large and hairy seeds.
(3) long and ridged fruits.
(4) spiny seeds.

62. TSTEAT <l TN YISl U qehreh & |
(1) 2l 2) @fed (3) wMaEst (4) AT
is a traditional rainwater harvesting technique of Rajasthan.
(1) Taanka (2) Khadin (3) Bavadi (4) Kuan
63. fmfdfad o & SH-81 I | e ?
(1) Ha (2) Teh II3ST
(3) =l (4) o«
Which of the following will dissolve in water ?
(1) Soil (2) Chalk Powder
(3) Sugar (4) Oil
64. TmAfcIfad o & HA-91 Tk T 8 2
(1) AYHEE (SHAfE) (2) B g (Faeha aied)
(3) IAATEHT (4) B
Which of the following is a communicable disease ?
(1) Diabetes (2) Chicken pox
(3) Alzheimer’s (4) Cancer
65. Uddi W Feq & foru, gH
(1) S 6 R FhT AT (2) B N AR g =T
(3) w9 =T =fEe (4) TRST (Th-w®T) I =fee
To climb the mountains, we have to
(1) Bend forward (2) Bend backwards
(3) Walk straight (4) Walk sideways
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66.

67.

68.

69.

70.

TSR o TSI TS @18 19 148 gRT 18301 Srared) § S-aTs 718 TNei i YefureTet sl M
FaTy |

(1) e fopet (2) Fga HHAR

(3) STl H-® (4) drS1 HEA

Name an astronomical observatory built in the 18t century by Rajput King Sawai Jai
Singh of Rajasthan.

(1) Red Fort (2) Qutub Minar
(3) Jantar Mantar (4) Taj Mahal
T aies =gH, @i, enfe aftfera g g |
(1) dgATSA (2) SiaHTSA
(3) Tand (4) HISA
includes internal rocks, minerals, etc.
(1) Atmosphere (2) Biosphere
(3) Hemisphere (4) Geosphere
ARGl a9 Tge o MY 3T A o g% fohT T TEIST I JHT AT B
(1) | figd (2) Share| e
(3) SaHTT o 4) Golg wifw
The remains of plants and animals that were buried millions of years ago are known
as
(1) potential reserves (2) fossil fuels
(3) biomass fuel (4) animate power
WG hi A e R |
(1) dfe=m sa (2) Y
(3) A (4) Teureet wewm
Rasgulla is a popular sweet of .
(1) West Bengal (2) Punjab
(3) Kerala (4) Himachal Pradesh
fferfiad § & #H-81 Y 1 Th SHAE q9e™ B 2
(1) dfea (2) S
(3) o« (4) HSITet
Which of the following is a tribal community of India ?
(1) Pandits (2) Jaat
(3) Bhil (4) Punjabi
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71.

72.

73.

74.

75.

Sed AfRehdt 94 Bid 8

(1) s * (2) ga %

(3) JAH I * (4) AR

Clouds are mostly made of

(1) snow (2) dust

(3) water droplets (4) smog

ffafed o & ®H-5 Hid & T amwEca Aid 1 2997 TEad! G0 JqH R T 2
(1) dre fogd smiza (2) <hgH

(3) & TSN SR 4) THEMHR T

For which of the following works has Vasdev Mohi been awarded the 29" Saraswati
Samman ?

(1) Lost Children Archive (2) Chequebook

(3) The Stranger Diaries (4) A Song for a New Day

3 TH. HEEWT (SRS STEFEe) & e S aTel JoH WRAT i o ?

(1) e &7 (2) .. FE HH

(3) #fimcht fosten et ufea (4) fwet sfan e

Who was the first Indian to be the President of U.N. General Assembly ?
(1) Natwar Singh (2) V.K. Krishna Menon

(83) Smt. Vijaya Lakshmi Pandit (4) Smt. Indira Gandhi
e TR o ffeiaa @ @ -8 v d w9 ufiet srufeea it 8 2

(1) RiEes (2) i@ (sTeA)

(3) i (3Mr3) 4) Afemt

In which of the following parts of the human body are sweat glands absent ?
(1) Scalp (2) Armpits

(3) Lips (4) Palms

HE & Bl T I §H 9T Had & ?

1) wid (2) hiee

(3) e (4) s

What do we call the young one of a Kangaroo ?

(1) Foal (2) Colt

(3) Joey (4) Cub
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W T

&=t wran
(et T&=t 9T <hT T R |t & foTn)

76. Y9 o = feu U foeheut ° @ 3fua faeew w1 =ma Hifw

S8t ST koA &Y

(1) S 2 Fm (3 TR (4) 3™
77. Traffaa weg & fore @@t fawdianeiess wisg (fashed) o1 ==m Hifse -

G

(1 W (2) 3FHEAM (3)  forRmm @ 3®
78. Tafeifaa weg & forw ot wfufaeae (fashew) o1 =gm Hifse .

=

1 fr+dg (2) fift+dg @ Ffh+z @ Ffft+sg
79. Treafafad wee # Wy 3uE & @ e 1 == HIf -

Freee

(1 T 2 =

(3) T (4) =

80. IS Y & = fqu v faskeui # @ 3fua faswkew giw .
frfafiga & @ H-81 365 I1gA 1 AT 65 7 ?

(1) 3 (2) TH (3) SdIg (4) I
81. &Y vee I faei weg @

1) g 2)  faure

(3) & 4) H%
82. Tr=feifaa areri/ereg Ty o e fou 7o fomredt o @ 3fea wreg o1 == il -

S Hereh! THH gfee | 2Ear &

(1) G (2) g=arE (3)  HHesf (4)  YOUSRY

83. @IYeh A M % forw FIRad wTeci/ereg HHgEl i FaRd Hive | foshedl H & &t
forehed o1 =F <hifT -

TR H / den [ gada g / #
(A) (B) (©) (D)

(1) DBAC (2) DABC (3) ABCD (4) BCDA
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84. feu U foehedl # U wE It 9T e AT =TI IV :

(1) eTeffarg (2) 3mfvEte (3)  omfdaTg 4)  omefate
85. Tk T W o foTu Iy fohed 9T -

8 @ il e e 8 98 AT 2 |

(1) s (2) ST 3) s (4) e

86. U % i< feu v faemedt | & 3fua faehew o1 =M hifvru
frefafaa 8 @ sH-an e srfeda 1 qatgar=h wee 2 2

(1) TS (2) 3Rl (3) ™ (4) 1@
87. TmAfcifad o & SH-|1 Ieg YR 1 WAETH! 3eg 787 &8 2

(1) udd (2) TER

(3) 3uA (4) 9T

[AFferiaa sie8s &1 sarTqde uga B T T¥H & Ic70 @gl faweq gy (T97 a&ar
88 @92):

R o9 3 O IR oY aT 8 | TE | Sieddr s+ &dl @ | I 50 e 9 e
ST T FHS AR 8 AT | 5H I T1hal o R H ] e 5 el O — a9 o9 HET 7
a Icaresh #W & F=i T R Sy | S % 3cares o T aredd Ug @ T aw ¥ 3w i Hi
Tiftd &1, =R I &, IR WId & | 399 9 H § M WM | 9| b Ui 731 3 gmH
1 9T T T8 TR B AT | S BAR fosh 1, AN A 1 qAud § — 5 |
ghad] 1 qomd IR Wfd I He aRem § W Bl @ | Ui, 9188 iR HH H
TreAl-gre T WY 7 | S O a8, 98 |rgEt ot g g |
88. Ty Y & ToTU @ 3Tervareh 8 2

(1) HEd HEAT (2) T sm

(3) Sfeaar (4) W
89. YN, HEH 3 HH hl TATcl-cTHT ol GaY hdl § ?

(1) gt 3T grget < s q8e fomam ST § |

(2) HrEH HUAN B B |

(3) I AT ¥ LT g I8 ArgE! o qaT 7 |

(4) dNeH, 989 TH-GR % T T8 ¢ |
90. TIefiSht 3 = <Y Grefepar fopmd Tt B 2

(1) YW & | (2)  HEHM 6 9EAT o

(3) ¥ o Wi Feer & (4)  3IcUEH 99 T
91. Trfehar I1ec T foeti| veg B

(1) Fhadm (2) TEfERaT (3)  forelehar (4)  IwNAMET
92. ¥W L H I e AT ?

(1) 9 g9 T&oEy gl (2) T ¥ Tiqerar T8 gt

(3) W& WA H WM hl HIEAT B (4) 9 W G $HS A9 hl T s
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93.

94.

95.

96.

97.

98.

99.

100.

T o fore wdt fasheq glen -
qiE g arer

(1) 9dee
(3) wlareft

WW@Q
NS

(1) S (2) A5

(2)
4)

3)

Teremeff
Tarereff

Bl (4)

frefeifad sieg o T oo & wdl foehed 1 = i

IEEINR

(1) o= (2) I
ffafiad weg w1 Sifom &9 g
S

(1) ST 2) et
frfaRaa & @ gfgm weg 2

(1) d

(3) hiear

AGH! W T FEI F 2

(1) R (2) EH
e 1 Fal 3 foafau

3t femm

(1) 2 e

(3) Hieh T TIHR HEAT

TR w1 Tgt 319 ferfau -

A YT e YT
(1) H@ &9 I
(3) E=A fomma 1 agar 9 @&
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SECTION C
LANGUAGE
(Only for those attempting English Language)

Read the following passage and answer the questions (Q. 76 — 78) by choosing the
most appropriate option :

Zeus and Prometheus

From the very first, humans had trouble with the Greek Gods. Most Gods thought of
humans as toys. But Gods made friends with the humans. One of those Gods was
Prometheus. The first people created by the Gods lived happily together. They thought the
Gods were wonderful. But their children were not as grateful or as content. The children
argued among themselves, and sometimes even argued with the Gods. Zeus was very
disappointed at mankind. He decided to punish mankind by depriving them of a very
important tool — fire. Prometheus felt sorry for his human friends. Fire was important for
many things such as heat and cooking. Prometheus stole a lightning bolt from Zeus and

gave it to mankind. That’s when man discovered fire.

Zeus was furious as Prometheus had defied Zeus. He ordered Prometheus be chained to a
rock as punishment for stealing his lightning bolt, and for going behind his back to help the
humans. To make Prometheus even more miserable, Zeus sent storms to beat angry waves
against Prometheus, helplessly chained to his rock. Zeus made the sun shine really
brightly now and then to burn his skin. It was Hercules who finally released the helpless

God from his chains.

76. Which of the following statements is not true about Zeus and Prometheus ?
(1) Most Greek Gods saw humans as a means of their entertainment.
(2) Prometheus was chained to a rock as he was a God.
(3) Zeus was an unforgiving God who did not like to be disobeyed.

(4) Hercules emerged as the saviour of Prometheus.
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717.

78.

Why was Zeus angry and disappointed at humans ?

(1) They kept asking him for fire.

(2) The humans misused his lightning bolt.

(3) The humans were quarrelsome and didn’t respect the Gods.

(4) The humans were not intelligent enough to discover fire.

What is the meaning of the underlined word : ‘Prometheus had defied Zeus’ ?

(1) Prometheus had worshipped Zeus all his life.

(2) Prometheus had defamed Zeus.

(3) Prometheus detested Zeus for his attitude.

(4) Prometheus had disregarded the authority of Zeus.

Fill in the blanks with the most appropriate option.

79.

80.

81.

The news is all the internet.

(1) on (2) through (3) over (4) near

We studied about Roman Empire in school.

(1) a (2) an (3) the (4) no article
There was no one else in the room Collin.

(1) accept (2) except (3) axcept (4) acept

Rearrange the following words/phrases to make meaningful sentences. Choose the
correct sequence.

82.

83.

the sun / you / of / must / stay out
A B ©) D) (E)

(1) ECADB (2) ABCDE (3) BDECA (4) DECAB

I/ immediately / salary / my / want
(A) (B) C @O (E

(1) BAEDC (2) AEDCB (3) DCAEB (4) EADCB
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84.

85.

86.

87.

88.

89.

90.

91.

Do as directed :
There are some diseases that are inherited. (Identify the kind of Noun)

(1) ‘diseases’is a proper noun
(2) ‘diseases’is an abstract noun
(3) ‘diseases’is a collective noun

(4) ‘diseases’is a common noun

After school you and must discuss a few things. (Choose the correct pronoun)
(1) him (2) me 3) 1 4) we

It is quite warm, ? (Use a Question Tag)

(1) isit (2) wasn'tit (3) isn’tit (4) wasit

Leave your bags at the gate. (Identify the type of sentence)

(1) Imperative (2) Declarative
(3) Interrogative (4) Exclamatory
Near the equator, the sun greater quantities of water.

(Choose the correct form of the verb)
(1) is evaporating (2) evaporates

(83) has evaporated (4) evaporate

Choose the correct spelling :

(1) appartment (2) aparttment (3) apartment (4) apartmant
Today is the day of my life. (Choose the correct adjective)

(1) more important (2) less important

(83) important (4) most important

Poets are known to fly in their thoughts.
(Choose the word nearest in meaning to the underlined word)

(1) sore (2) sour (3) soar (4) sure
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92. Choose the most appropriate option :

Which of the following options is the meaning of the word ‘exhausted’ ?
(1) Very hot (2) Very polluted
(3) Very fresh (4) Very tired

93. A confectioner is a person who

(1) sells tools (2) sells confetti
(3) sells sweets (4) sells clothes
94. The captain along with the players.
(1) was present (2) was presenting
(3) have been presenting (4) has been presenting

95. Choose the word that means the opposite of MORTAL.

(1) Unmortal (2) Immortal (3) Inmortal (4) Dismortal
96. A of thieves was caught by the Police.
(1) swarm (2) pack (3) team (4) batch
97. It has become his habit to do his homework and then copy it from others.
(1) always (2) often (8) frequently (4) never
98. There were several at the conference.
(1) women (2) woman (3) wemens (4) womans

99. ‘To beat around the bush’ means
(1) to turn violent against a stranger.
(2) to avoid saying something because it is uncomfortable.
(3) to come to the main point of the conversation.

(4) to start a fire in the forest.

100. My father is a bookworm, he books to films and sports.
(1) is prefer (2) prefer (3) prefers (4) are prefer
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101.

102.

103.

104.

W 9 / SECTION D
=T (32fei=i®) / INTELLIGENCE

& TS e B ST AT @ 2

AC,FHKM,....

(1) N (2 Y 3) P 4 M
What comes next in the given series ?

AC,FH KM, ...

(1) N (2 Y 3 P 4) M

g 3 €Y qd shl AR =1 AW AT | o8 $B gL deh del R T Ao grlf 317 g2
a1 R & el | 3 3Eeh gu foey femn § R 2

(1) IW 2 g (3) gleu (4) ufyem

Rahul started walking straight towards East. He walks a certain distance and then
turns towards his right and walks again. In which direction is he heading now ?

(1) North (2) East (3) South (4) West
few U faemeut § @ foww 1 === AT |

(1) AT : T (2) s : fere

(3) TIEYH : e 4) ¥ : fara

From the given options, choose the odd one out.

(1) Bangladesh : Taka (2) Brazil : Real

(3) Cyprus : Dollar (4) Iran:Rial

a1 Tk | S 7 |

s =T A ST 7 |

Ttk fofe | gl R |

Ife Jom T AT A &, Al 160 HAH 7

(1) oA (2) A (3) AfT=m (4) TH § *IE T

Tanya is older than Eric.

Cliff is older than Tanya.

Eric is older than Cliff.

If the first two statements are true, the third statement is

(1) True (2) False (3) Uncertain (4) None of these
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105.

106.

107.

108.

1 g & T 9 e e 2
10, 100, 200, 310, ?

(1) 420 (2) 410 (3) 430 (4) 400
What will come at the place of the question mark ?
10, 100, 200, 310, ?

(1) 420 (2) 410 (3) 430 (4) 400

A, BHiaggig | C,BHIAT2 | D,CH a2 | E,DHI AT 2 | @1 A &1 D F 1 oy
72

(1) @ (2) wd

(3) gt (4) Y=

A is B’s sister. C is B’s mother. D is C’s father. E is D’s mother. Then how is A related
toD?

(1) Grandfather (2) Grandmother
(3) Daughter (4) Grand-daughter

% fafitse e 91 # COMPUTER %1 RFUVQNPC % &9 ¥ for@n Smar g | 3et &e
9T # MEDICINE %! fohe SR for@t e 2

(1) MFEDJJOE (2) EOJDEJFM

(3) MFEJDJOE (4) EOJDJEFM

In a certain code language, COMPUTER is written as RFUVQNPC. How will
MEDICINE be written in that code language ?

(1) MFEDJJOE (2) EOJDEJFM
(3) MFEJDJOE (4) EOJDJEFM

afe gfaorgd I 2 S, Sa-gd ufvem & 9 s 35 YR e I @, o ufeem w8
Bl

(1) I (2) IR-UT=H

(3) afeorgd (4) zfmorufEEm

If South-East becomes North, North-East becomes West and so on, what will West
become ?

(1) North-East (2) North-West
(3) South-East (4) South-West
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109.

110.

111.

112.

113.

45 forenfelat it wes e A, TR o1 HH ST T 1697 & | 3Tk, MR T 6 HH 9 2 |
f= O 313M BT HH HIA-AT 7 ?

(1) 23df (2) 324t (3) 244t (4) 3o0arf

In a class of 45 students, Amir’s rank from the top is 16th. Ashok is 6 ranks below
Amir. What is Ashok’s rank from the bottom ?

(1) 23rd (2) 32nd (3) 24th (4) 30th

R < P-4 Th = hl 4 Tg &R @A o @iell T H FAHHR W@ 8 S@el

o Bt ?
_ab_b_aba__ abab.
(1) abbaa (2) bbaab (3) abaab (4) aaaba

Which one set of letters when sequentially placed at the gaps in the given letter series
shall complete it ?
_ab_b_aba___ abab.

(1) abbaa (2) bbaab (3) abaab (4) aaaba

39 J@e i AR RAT : 2, 1, (1/2), (1/4), ...
A T JTelt T HiA-E ghft 2
1) 13 (2 18 (3) 2/8 4) 1/16

Look at this series : 2, 1, (1/2), (1/4), ...
What number should come next ?

(1) 1/3 (2) 1/8 (3) 2/8 (4) 1/16
I8 "l faseu g fod ot dag 7 |

SCD, TEF, UGH, , WKL

(1) CMN (2) UJI (3) VIJ 4) I1IJT
Choose the correct alternative that has the same relation.

SCD, TEF, UGH, , WKL

(1) CMN (2) UJI (3) VIJ 4) 1JT

Ife ‘WAY’ hl 679 &9 H hicd kT ST 7, ‘MAY’ I 579 o €9 | FHied fhl I &,
Tl YAW’ =i pfea feram Sram

(1) 976 (2) 769 (3) 679 (4) 579
If ‘WAY’ is coded as 679, ‘MAY’ is coded as 579, then ‘YAW’ will be coded as
(1) 976 (2) 769 (3) 679 (4) 579

HE/HALEBI/6/21 30-A



114, I + 1 78 g “Tar”, <« 1 31d g “qQUI7, W B AL 7 S, A 10 x 5 + 3 — 2 I AH

18 ?

(1) 24 (2) 52 3 9 4) 10

If ‘4’ means “Minus”, ‘" means “Multiply”, ‘<’ means “Add”, then what is the value of
10x5+3-27

1) 24 (2) 52 3) 9 (4) 10

115. U : FHaq (Faas) - Jared e -
(1) TF HE (2) HTEHA BT
(3) T (4) HEEAH
mend : sewing : : edit :
(1) darn (2) repair
(3) manuscript (4) makeshift

116. ik TaM i gfd hif |

TR : ST : : hald U9 -

(1) =aeh (IFee) (2) Toe (3) EHAA (4) YsHaR
Fill in the blank.

rein : horse : : control panel :

(1) pilot (2) Dbit (3) plane (4) rider

117. 98 YT6g JHT ST Hg % Yeal ¥ Fa8 w9 et 7 |

(1) TA.TH. U= (2) wETH

(3) =BIgHW 4) fax
Choose the word which is least like the words in the group.
(1) MS Paint (2) Facebook
(3) WhatsApp (4) Twitter
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118. o8 312 YT ST Y@ifeha 3eg ol 3tfem wim B |

119.

firer

1) v (2) forern (3) TH (4) dw
Choose the word that is a necessary part of the underlined word.

Guitar

(1) Band (2) Teacher (3) Songs (4) Strings

el EIE

3T foehed b1 == Hteh fgdft Im &1 qu hifvu |

(1)

©

(2)

[]

(3)

O

O

O

4)

Complete the second pair by selecting the appropriate alternative.

(D

©

(2)

]

(3)

O

(4)

A

120. T 3TTgHT 6 Tepeft farur <l AR =retar &, ST geeht 4 fopr =refar &, TRt gama «Td Hedn @

HE/HALEBI/6/21

3 5 fertft =retar B | o7a 3Teht Hg formr foom 6t ot B 2
(1) gfeor (2) (3) 9@ (4) dfvam

A man walks 6 km south, turns left and walks 4 km, again turns left and walks 5 km.

I

Which direction is he facing now ?

(1) South (2) North (3) East (4) West
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121.

122.

o g & TAM W HIH-9T1 378 377U ?

(= 0
OXOXO,
(D& ®

(1) N (2 O
3) P 4) M

Which letter replaces the question mark ?

(=) e ()
OO,
OXOXCY

(1) N 2 O

3 P 4) M

A 4 U 9ad b HEl, ‘e 45 e & fafia ofaue WSSt 7 | sifaw g9d 5 fie
ugcl sl ot | FTEl 9 7:45 am WS |7 I 4 Wad I I8 I hE T W &
ot ?

(1) 6:55 am (2) 17:00 am

(3) T7:05am (4) 17:40 am

The priest told the devotee, “The bell rings at regular intervals of 45 minutes. The
last bell rang 5 minutes ago. The next bell is due to be rung at 7:45 am.” At what time

did the priest give this information to the devotee ?
(1) 6:55 am (2) 7:00 am

(3) 7:05 am (4) 7:40 am
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123. 1 few o foer 3§ fepe forgst € 2

1 4 (2) 12 (3) 16 (4) 10

How many triangles are there in the figure given below ?

(1 4 (2) 12 (3) 16 (4) 10

124. T %< §, ‘BOMBAY’ I ‘CNNABX’ % &9 § %fed fohal STal 8, d ‘DELHI 1 e

BT 2
(1) EDMJG (2) GMDEJ
(3) DEGMJ (4) EDMGJ

In a code, ' BOMBAY’ is coded as ‘CNNABX’, then what will be the code of ‘DELHT ?
(1) EDMJG (2) GMDEJ
(3) DEGMJ (4) EDMGJ

125. T oM i gfd HIT |
AT HT : Teh HL ST : : GG AT ¢

(1) T 3 (2) g &

(3) formrg g (4) STt SRt § W
Fill in the blank.

segregate : unify : : repair :

(1) approach (2) push

(3) damage (4) outwit
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T 1A o foTe g

SPACE FOR ROUGH WORK

HE/HALEBI/6/21 35-A



T T & fo1u SHTg

SPACE FOR ROUGH WORK
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